IRTIFvF—hy7RERER_10A38 GIAAIISEkS)
B7avys

F— L%

EAE—N"—X-FAER7vF-—X

f/hEB

F— L%

IR 2 =7 Y R=X

MEY—LX

B|rE)—LX

Fa/vE B

F— L%

BEHF 774 2—X 0

TIFERRDEFRS 77

F—L% 1 2

WARER—7R - EMRERR = —&E8

—2IB 0 0

F— L%

BEHF 774 2—X

WHAREFR—7R - BHRERR - —E5

F— L%

FLoPA—TILR 4

EEE—N"—X -FEBE7 7/ X

F— L%

MIES

RIREN—ZXH—ILTT7

F— L% 1
FLIA—=TILR 1
WITES 1

F— L% 1
EEHEY LR X—

EHEHIT 0

F— L% 1
KG/¥7 —X 1

EOEY ML KX — 1




IRTIFvF—hy 7THERER_10A38 CIFIEANIEERS)

cz7avyy
F— L% =
F/EA 4
BERETRY IR 3
F— L% =
FEEFBYS T 1
BHIEESY — v XRR—VHEH 3
F— L% =
BBETXRY IR 2
FE&EFByZ7 3
F— L% =
AN VNIIBERS B
TANLKREYFPa=T 5
F— L% =
BFHZ Y —>vxX&Z2—X 5
BRTAR— A X -
F— L% =
EBRER—AX .
N ES :
F— L% =
%EE:/\\:L:T 1
Ly Forvy—22X 3
F— L% =
Ly Rory =72 15
AFRITT—X - kBRSO =X 75 v 7N 0
F— L% =
FBELYyY T 742 —X c
B O—X 3
F— L% =
FEELYyY T 7442—X .
CazZT7FA VX 5




